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Solution: 

∠𝑂𝐸𝐶 +  ∠𝑂𝐷𝐶 = 180° 

∴ 𝑂𝐷𝐶𝐸 is concyclic 

Let ∠𝐸𝐶𝐷 =  𝛼 

∠𝐵𝑂𝐷 =  𝛼 (Exterior angle is equal to interior opposite angle) 

∠𝐴𝑂𝐸 =  ∠𝐵𝑂𝐷 =  𝛼 (vertically opposite angles) 

∠𝐷𝐵𝑂 =  ∠𝑂𝐴𝐸 =  𝛽 (Say) 

∴ 𝐴𝐵𝐷𝐸 𝑖𝑠 𝑐𝑜𝑛𝑐𝑦𝑐𝑙𝑖𝑐 

Let ∠𝐴𝐵𝐸 = ∠𝐴𝐷𝐸 =  𝛾 

∠𝐸𝐷𝐶 = 90°- 𝛾 

CE ⊥ OF and bisect of  

∆ 𝑂𝐶𝐹  is an isosceles triangle  

OC = CF 

∠𝐶𝑂𝐹 =  ∠𝐶𝐹𝑂 (Angles opposite to equal sides are equal) 

∠𝑂𝐷𝐸 =  ∠𝑂𝐶𝐸 =  𝛾 (Angles in the same segment) 

∠𝐶𝑂𝐸 = 90° − 𝛾 

∠𝐶𝐹𝐸 =  ∠𝐶𝑂𝐸 = 90° − 𝛾 



Consider ∆ 𝐵𝐶𝐹 & ∆ 𝐷𝐶𝐺  ∠𝐶 is common 

and ∠𝐵𝐹𝐶 =  ∠𝐶𝐷𝐺 = 90° −  𝛾 

∴  ∆𝐵𝐶𝐹 ~∆ 𝐺𝐶𝐷 (by AA similarity) 

∴ 𝐶𝑜𝑟𝑟𝑒𝑠𝑝𝑜𝑛𝑑𝑖𝑛𝑔 𝑠𝑖𝑑𝑒𝑠 𝑎𝑟𝑒 𝑝𝑟𝑜𝑝𝑜𝑟𝑡𝑖𝑜𝑛𝑎𝑙. 
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